BEDIENUNGS-

Seite 18

65786

ANLEITUNG

von 20

Explosionszeichnung

o

|\ |\? wm.

)

|t | s |t
=== =
2| Q0 | -d O [N

»
=]

—fa|a
MNINININ
R LUY L]

u||




65786

BEDIENUNGS-
ANLEITUNG

Seite 19
von 20

Ersatzteilliste

65786
Nr. Beschreibung \ Anzahl \ Nr. Beschreibung Anzahl
1 |Hubzylinder 1 39 |Schraube M10x40 1
2 |Dichtsatz 22 5 40 |[Splint 2
3 | Unterer Hochdruckschlauch 1 41 |O-Ring D81x3.1 1
4 | Oberer Hochdruckschlauch 1 42 | Olfilter 1
5 |Schlauchverbinder 2 43 [Flansch 1
6 Schraube, Griff 2 44 | Unterlegscheibe 6 6
7 | Griff 2 45 |Schraube M6x14 6
8 | Unterlegscheibe 12 12 46 | Zylinderstift 12x70 1
9 |Selbstsichernde Mutter M10 9 47 | Spaltklinge 1
10 | Unterlegscheibe 8 18 48 |Schraube M12x70 6
11 |Selbstsichernde Mutter M8 5 49 |Gegenplatte 2
12 | Schraube M8x20 2 50 |Gleitwange 4
13 |Schraube M5x16 2 51 [Linke Platte 1
14 |Selbstsichernde Mutter M5 2 52 | Mutter M12 6
15 |Selbstsichernde Mutter M12 6 53 |Rechte Platte 1
16 |Konterplatte 1 54 |Staubschutz 1
17 |Unterlegscheibe 22 4 55 | Nutmutter M22 2
18 |Einstellstange 1 56 |Rad 2
19 | Zylinderstift 8x70 1 57 |lLager L44643 4
20 |Unterlegscheibe 8 (M) 2 58 |Staubscheibe 2
21 |Feder 1 59 |Stammbheber 1
22 |Schraube M8x40 1 60 |Unterlegscheibe 12 (L) 1
23 |Schraube M8x25 2 61 |Kette, Stammheber 1
24 |Sternschraube 2 62 |Schraube M16x90 1
25 |Fixierklaue 1 63 |Selbstsichernde Mutter M16 1
26 |Verlangerte Fixierklaue 1 64 |Schraube M12x35 1
27 |Schraube M10x20 2 65 |Arretierung, Stammheber 1
28 |Federscheibe 10 2 66 |Feder 1
29 |Unterlegscheibe 10 10 67 |Schraube M8x25 4
30 |Stangenstitze 1 68 |Halter 2
31 |Ruckholfeder 1 69 |Oberer Schutz 1
32 |Zylinderstift 5x35 1 70 |Mutter M8 4
33 |[Splint 3 71 |Rahmen 1
34 |Bolzen, U-Holm 1 72 |Olstab 1
35 |[U-Holm 1 73 | Zylinderstift 2
36 [Hulse 2 74 | Haltebolzen 1
37 |Schutzarm links 1 75 |Zulaufschlauch 1
38 | Unterlegscheibe 10 (M) 2 76 | Nippel 1/2-M20x1.5 1




Beschreibung

Nr.

D O(HAN[NIFT(N[OIN[OV|D(O| AN N ITIIVOINIO DO AN NI IWNIOINR(N(OHA N[NNI O|IRN| Q| D
Al N[N N[NNI NN NN oo on NN |9 (9T (T S(injnunjinunjunin(n|wn
Al A Al Al A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A | | | |

1
(7]
Q2
2 5
2
< o
w5
g 2
o

Beschreibung

0 Old( N NIS(NOIN|RNDN[O|HAI N N|<T|(N|O|IN| O
=8l N| 00| O | N[ M [Tp] N0 | N[O N N~ OO0 |O|0|O| ||| || | | |
Z I 0| o0 o0 [o¢] o0 | o0 (e} el )] (e)] (o)) iR I R R e e R e E R A e R e R N e R




